[image: Graphical user interface, text, email

Description automatically generated]Que





[image: Graphical user interface, text, application, email

Description automatically generated]



Solution:
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The instantaneous voltages at three terminals marked X, Y and Z are given by
Vx =Vosinot

Vy =Vgsin (mt+ 2377[) and

Vz =Vpsin (u)0+ 431)

An ideal voltmeter is configured to read rms of the value of potential difference

between its terminals. It is connected between points points X and Y and then
between Y and Z. The reading (S) of the voltmeter will be
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ViZ *Vn\/i
/3

VI =Voy/3

V¥ =Vo

Independent of the choice of the two terminals
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Correct options are A) and D)

Vi = VT VET Vo Voo 1200

Vi =Vo

As we know the rms value is a factor of the square root of the normal value. So,
ms _ VO

Vo= \—6

Hence A is correct.

All the three component will be cancelled each other as the resultant of two

component will be the opposite of the third component. Hence it will be get

cancelled.

So for the both combination, it will be independent.

Hence Dis also correct.




